

## Soustraire Deux Fractions Mixtes (B)

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque différence.

1.  $5\frac{2}{3} - 4\frac{2}{5} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

2.  $5\frac{2}{9} - 1\frac{1}{2} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

3.  $5\frac{3}{5} - 2\frac{10}{11} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

4.  $5\frac{4}{17} - 1\frac{1}{6} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

5.  $3\frac{5}{8} - 1\frac{1}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

6.  $5\frac{5}{6} - 1\frac{3}{5} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

7.  $2\frac{8}{13} - 1\frac{1}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

8.  $3\frac{4}{11} - 1\frac{1}{2} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

9.  $5\frac{2}{5} - 1\frac{1}{2} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

10.  $5\frac{3}{7} - 1\frac{5}{8} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

## Soustraire Deux Fractions Mixtes (B) Réponses

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque différence.

$$1. \quad 5\frac{2}{3} - 4\frac{2}{5} = \frac{17}{3} - \frac{22}{5} = \frac{85}{15} - \frac{66}{15} = \frac{19}{15} = 1\frac{4}{15}$$

$$2. \quad 5\frac{2}{9} - 1\frac{1}{2} = \frac{47}{9} - \frac{3}{2} = \frac{94}{18} - \frac{27}{18} = \frac{67}{18} = 3\frac{13}{18}$$

$$3. \quad 5\frac{3}{5} - 2\frac{10}{11} = \frac{28}{5} - \frac{32}{11} = \frac{308}{55} - \frac{160}{55} = \frac{148}{55} = 2\frac{38}{55}$$

$$4. \quad 5\frac{4}{17} - 1\frac{1}{6} = \frac{89}{17} - \frac{7}{6} = \frac{534}{102} - \frac{119}{102} = \frac{415}{102} = 4\frac{7}{102}$$

$$5. \quad 3\frac{5}{8} - 1\frac{1}{9} = \frac{29}{8} - \frac{10}{9} = \frac{261}{72} - \frac{80}{72} = \frac{181}{72} = 2\frac{37}{72}$$

$$6. \quad 5\frac{5}{6} - 1\frac{3}{5} = \frac{35}{6} - \frac{8}{5} = \frac{175}{30} - \frac{48}{30} = \frac{127}{30} = 4\frac{7}{30}$$

$$7. \quad 2\frac{8}{13} - 1\frac{1}{3} = \frac{34}{13} - \frac{4}{3} = \frac{102}{39} - \frac{52}{39} = \frac{50}{39} = 1\frac{11}{39}$$

$$8. \quad 3\frac{4}{11} - 1\frac{1}{2} = \frac{37}{11} - \frac{3}{2} = \frac{74}{22} - \frac{33}{22} = \frac{41}{22} = 1\frac{19}{22}$$

$$9. \quad 5\frac{2}{5} - 1\frac{1}{2} = \frac{27}{5} - \frac{3}{2} = \frac{54}{10} - \frac{15}{10} = \frac{39}{10} = 3\frac{9}{10}$$

$$10. \quad 5\frac{3}{7} - 1\frac{5}{8} = \frac{38}{7} - \frac{13}{8} = \frac{304}{56} - \frac{91}{56} = \frac{213}{56} = 3\frac{45}{56}$$